1254 3x 4+ 4 <15 - x B WA= A4

1A @24 @3A @4

Lo

3x+4<15—-x
3x+x<15-4

4x <11

<11
XS —
4

mebd x< o 9 ARRE 1, 29 270l




e % agrsa { TP o gt opg mes
-3x+2<0 -
6 4
D1 @ - (© @ 2 ®)3
5 3 ,
x<3
5x+3 <18 %%K&{ e




3. A<B<CEYFAEE W IE2 A2
A<B A<B A<C
@ ©) ®
A<C B<C B<C
B<A A<B
@ ®
B<C C<B

A<B<C &9 AL
A<B
B<C

2 IAHA £




A5, B, F@oles Ze AYE gl A

RE ARt &Eg gelu ol A, 4 | g

T MR B R o) gty gioh g ©
A E ARt AL o] T xE e Tt

g, Fdole] Tami ofw A7 B ©
ot

A ZE
> ow
> ®HE: O

B

Feol7t B Ao 714 WA £t Yo O Folg
S57} 714 wac

(&9) = —Ef]f}g OBz 712717 Mg 2 AL Fow 9
ez} o]} 9l A=)S Lehd Rolct,




5. YRRy =dx +3 9 T4 x Fhol a ONA] a + 2 7HA] FIHE
off, y 7ol S7FEF?

® 4 @ 5 ® 6 @7 @)

X L A BAERD &
&7 4 CIRR 4 = s =rey) = 5 I

wpebA & — 8 o},




A (0,5) & AYL 2x-6=0 ]

6.

ul
KO

3

2x-6=0, x

% st
Ty=25




ATy = 2x + b O] A7} ofS 1T yA
FA s e
4
@—2 @ -1 @ 2
@ 3 ® 4 S
/-2 |0 =
y&Ho] 40| B2 i 42y = 2x + 40
o] g0 xdH L

0=2x+4
x = —209]|t},




O
=

™

mx—+y
2x+y

o
|

R

iy

o

G

Il
<t |
IT
/N
0 [
/l_\

s

ity

g .
Y
~—~ o
< len 4
. I
1R
~— &




3 3
@ga+1<gb+l @)3—-4a>3-4b

® —3a-1<-3b-1 @ —0.1-2a<-0.1-2b
l—-a 1-b
@ 3~ 3

FHof 2 S48 HolH E53%
@ -3a-1>-3b-1
@ -0.1-2a>-0.1-2b

ulT},

rr




n7} b 2w

o 27
= 2x+a9l9] He] ok 2

1
Fy=ax— =

ot

ol %
=

10.

2

= o, I3z y
()

s
°
—

@ (-1, 0)

@ (1, 4)

At

i

™M

y=2x+2 9]¢ HoJ oyt




